nam phan s0, thr tu cac phép toan c6 dau ngodc

Tén: Ngay thang: Piém:
R R G+ x5 (G-3) -
G5+ 3G G- (G +3)% 53— G+
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nam phan s0, thr tu cac phép toan c6 dau ngodc

Lo, 13 1,
(§+(§)) §+(§+Z)

557

16 16

N 3 66l 13
3 6 4 36 36

1 1, 1.1 2, 17
—— =)+ (= +(2))= —
G727 *5G7GN 5

Ngay thang: Diém:
1, 3.1 2 1, =
Y+ )X ——(Z -y =——
G+ P*35-G 3 =55
I 1, 31 2. 19
P (= D)= =
G337 *+33737 5
2 1, 31 2 1549 649
Cropilar =2
3720755757 900 T 'o00
1, 11 1 1 I
(GP+3)% 35— G+ 37 =)

1 2 1028 53

s_tp L o2 5 1026 .55
C=30 373 7 75
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